Belat £30e v
1. 7HE]LA]: 2025. 7. 10.(=) 17:00~18:10
2. AP 2/AA): 119/8%

kil A9
3 Adeoerdd Az y &
- 2817] 2RMAIAF SR HE AA|
- N o - - 28H4: 2025.12.05.(&), 12.08.(¥), 12.09.(3}H)
1 202584 = 2817 AL 9 AF | E¢ AbS: HOIA] SAA|alES o o5t ENC AR
(o]-) 7}73 T jadfe] = IN=1 e T eslT
e = | - 384 2025.11.28.(&), 12.01.(¥), 12.02.(3}H
AL 27100 WAl AHE 71RY A R
9 20258t 18hd AGEIIA 9 | A | - Fzne O A Mg/ A2eAsts
A& (s 714 | - o4t 9,750,000
- oA} ahd: 2025shdw 18hd RjEAY
- 70 db= dEo], gt (E1)
- 2 - 2 Alg 2 1ARE (AZF 34417 Yiel)
g | 2026%hd% 28d Ae E AL AN o0 20 Jozesras 1,080
(o‘l_) 71A o ] ] = e Rl ]
& P2 |- 5ap 2w wpok w29l & wslaal A%
- 7T W G af WAL
- "] Sy 9l shRn opy 9 Aut vy
. Aot | - It =4 AR 2=
Std e w8 TA HMA(Sr T o © S =R
4 | 202683 % wH-E =X AR J1A | = AEARol: o)l
- Y& 0]dX]E FEet 2npaZdAE AA
_ _ _ . - A k-1nE Ol& A H(2oHE7I-
5 |WWIEE 15 AFAYRE AN | Uk | M engagd o RERRSS
A" (h T2 | - s 9025, 10, 17.(2)
- H]A AP QPR S AA
- A BEEE 3AF S0
N N - o - Ak 33H4 W QS WAL JH(FSHEIE
o |20%5%dE ssha @gARae Ay | ge | D IHA- BT, GSaA 98 eEETrs)
Zl':Z] 7_-]] (O]—) 7}73 =270 . . (o
I = - Aa 2nss Y aH 2
- H]aL Q& WAL OlE], IO WS AlA]
- O 2shd 1227, S WA 9Y(FSHE7HS)
- Al7]: 2025. 10. 15.(%) ~ 10. 17.(&) 2¢t 3
_RpA: B 1Ol (3HA BHY ENE
) | 2025%dE 2shd ek @gAws | Qo | 4L T WU ARe aa S e
s A& 32 AZ(b 714 ’ . 5 ° Y
- 1o dT®7E aA8_458,9004(1918  A1H3
250,000 3, wA}_405,800
- B LSS A9 A= o)F
- FRUg: sty Lo, 28A(HA 71 2
8 | & :IL_":‘H 7":@"('0]_) o 7“}7‘; AL A|7]1_2025. 4. 1. ~ 2026. 3. 31. ==
B A 2 4pcs, SHE2pes_339,3009), SEAIY_GH(
HAZ)oA] SR(FD) A&
20263PAE AR dF ASE A& | GO | =z]: sHAR 9 &l O
9 _?_UH 74];]1(?1_) 7}75 __FLDH Txﬂ =0 7HC1>_]O] K}E—l—i __FLDH




4 SR
< IR
rz mu ™ 70 oF
ﬂ - o9 .

RN O g0
s <k

oo o .. O o

.~ mmﬁ -
ol = < — BO
oK n_u PO Kk
T " oF =p
o] N
NP H X
& oF ior i < &0
I I
oT AT k! ol T
=<0 T Sil TN
™ 3
K o -
~ O
W T
T =
. ) %
(] oF B° =
T < o X -
N T T 5
o rim %° B
- =%
o A T X
- o o5 M
— frueel
P N
or o
>tz % N
(] (2]
ST S

o] S

173

115
j 4

FAP] Wl

°

9]

JLN

(1,160,806,000¢ Z-H)
11.

- AIY-AE 247 4,824,562,0004 0.2

7.

2025.

Yo gFRAM =

to

2t AR

=

il

=

11




